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An old man is walking on a foggy road at a speed of x km/hr. Due to low
visibility, the old man see only up to 600 meters. If a car overtakes the man from
the behind with the speed of 15 km/hr then the man can see the car for 216

seconds. Find the speed of the man?

Ueh ol HGH! Teh YUoll Tsh TN x [hdAI/ger &H1 afd @ Il TN &1 A TIAT & BRI,
qal 3TeHT hdel 600 HieX ddh ¢@dl &l I Th HR 15 fhal/ger & a1fd @ fis |
AT @ 3T [Adhel STl & dl I8 <Ifth BR Pl 216 Ahs & ToIU @ Hhdl & GAT hl
M AT hITTd?

1.2 km/hr
2.3 km/hr
3.4 km/hr
4.5 km/hr
5.6 km/hr




Directions: Answer the questions based on the information given below.

The table given represents the percentage distribution of the number of students who took
admission in three courses of five different colleges.

Total number of students in college P is 1400. The number of Arts students in college Q is 50
less than college P. Total number of Fashion students in all five colleges is 25% less than the
total number of Engineering students. Total number of Engineering students in college P is

550. 0 0
.A Of. % of (Fashion + % of Arts
(Engineering + students out of
Arts) out of Total
college Arts) out of Total . Total Arts
. . (Fashion + Arts)
(Engineering + <tudents students
Arts) students students
P X 17 17.5
Q 16 Z X
R 21 19 22.5
S y Z 25
T Yy Yy Z




Total number of students in college P is 1400. The number of Arts students in college Q is 50 less t@
college P. Total number of Fashion students in all five colleges is 25% less than the total number 0
Engineering students. Total number of Engineering students in college P is 550.

% of (Eng + Arts) % of (Fash + Arts) % of Arts out
college out of Total (Eng + out of Total (Fash of Total Arts
Arts) students + Arts) students students

P X 17 17.5
Q 16 Z X
R 21 19 22.5
) y Z 25
T y Y Z




What is the total number of students in all the five colleges ?

Tt gier ShictsTl H BTAL hl et AT FIT 8?2
college Engineering | Fashion + Total Arts Engineering  Fashion Total
+ Arts Arts student students students

P 900 850 350 550 500 1400

0] 960 1000 300 660 700 1660
1. 6000

R 1260 950 450 810 500 1760
2.7000
) 1440 1000 500 940 500 1940 3. 8000
T 1440 1200 400 1040 800 2240 4.9000

Total 6000 5000 2000 4000 3000 9000 5. 10000




What is the difference between average number of students in 'Engineering' and
'Fashion' courses combining all the five colleges together ?

aHt gier Sieietl il WA ST iR I UTegdshut W BT sl fted
TEAT o ST T 3R AT 2

Engineering | Fashion + Engineering  Fashion Total
college Total Arts
+ Arts Arts student students students

P 900 850 350 550 500 1400

0] 960 1000 300 660 700 1660
1.200

R 1260 950 450 810 500 1760
2.250
) 1440 1000 500 940 500 1940 3. 300
T 1440 1200 400 1040 800 2240 4. 400
Total 6000 5000 2000 4000 3000 9000 5. NOT




Total number of students in college T is how much more/less than the total
number of students in college S ?

HTe T W ST hl het AT HTAA S W BT hl Het &A1 ¥ Tehe=1 Tfereh/ww 82

Engineering | Fashion + Engineering  Fashion Total
college Total Arts
+ Arts Arts student students students

P 900 850 350 550 500 1400

0] 960 1000 300 660 700 1660
1.100

R 1260 950 450 810 500 1760
2.200
) 1440 1000 500 940 500 1940 3. 300
T 1440 1200 400 1040 800 2240 4. 400
Total 6000 5000 2000 4000 3000 9000 5. NOT




What is the difference between the total number of Fashion students in college P,
Q and R and total number of Engineering students in college R, Sand T ?

HicTA P, Q IR R | T BTAT hi el HEAT HR hiers R, S FAR T H g
BT T THeT HEAT oh S T ST FIT 72

Engineering | Fashion + Engineering  Fashion Total
college Total Arts
+ Arts Arts student students students

P 900 850 350 550 500 1400

0] 960 1000 300 660 700 1660
1.1080

R 1260 950 450 810 500 1760
2.1090
) 1440 1000 500 940 500 1940 3.1100
T 1440 1200 400 1040 800 2240 4.1110

Total 6000 5000 2000 4000 3000 9000 5. NOT




Sum of x and y is what % of z ?

x 3R y ST TN z kT FhaaT % 22
P 900 850 350 550 500 1400
(0] 960 1000 300 660 700 1660
1.155%
R 1260 950 450 810 500 1760 2 165%
S 1440 1000 500 940 500 1940 3.175%
T 1440 1200 400 1040 800 2240 4 185%
Total 6000 10010 2000 4000 R10[0[0) 10[0]0) 5 195%




